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Instructions for the Candidates

1. Write your roll number in the space provided on the top of this page.
2. This paper consists of fifty multiple-choice type of questions.
3. Atthe commencement of examination, the question booklet will

be given to you. In the first 5 minutes, you are requested to

open the booklet and compulsorily examine it as below :
To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.
Each item has four alternative responses marked (A), (B), (C)

and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example : @ ‘ @

where (C) is the correct response.

Your responses to the questionsare to be indicated in the OMR
Sheet kept inside the Paper | Booklet only. If you mark at any
place other than in the ovals in the Answer Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.

You can take away question booklet and carbon copy of OMR
Answer Sheet soon after the examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.
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SOCIOLOGY
Paper -1i
Note : This paper contains fifty (50) objective type questions. Each question carries
two (2) marks. All questions are compulsory.

1. Which of the following concepts best 4. Choose the correct sequence of the

K-0713

explains the relevance of sociology in

understanding daily life ?

(A) Sociological construction
(B) Sociological perspective
(C) Sociological imagination

(D) Sociological insight

. The range of role relationships associated
with a given status can be understood by

using the term
(A) Role-play
(B) Role-set

(C) Role-reversal

(D) Role-conflict

. Cultural relativism means

(A) Function and meaning of a trait are

relative to its cultural setting
(B) Culture is relatively rare
(C) Cultural evolution is relative

(D) Cultural diffusion is relative

stages of human history, as identified by
Karl Marx on the basis of the modes of
production

(A) Primitive communism, communism,
feudalism, slavery, capitalism

(B) Feudalism, slavery, primitive
communism, communism, capitalism

(C) Primitive communism, slavery,
feudalism, capitalism, communism

(D) Primitive communism, communism,
slavery, feudalism, capitalism

. According to G. H. Mead which among

the set of three activities develop the self ?
(A) Language, play, game

(B) Dialogue, role-play, self-
consciousness

(C) Gestures, symbols, speeches

(D) Interaction, connection, co-operation

. A. Comte’s vision for sociology was that

of a

(A) Normative science
(B) Positive science
(C) Natural science
)

(D) Interpretive science
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7. Which of the following books on
Trobriand Islanders was written by
B. Malinowski ?
(A) The Trobriand Islander’s way of
speaking
(B) The Trobrianders of Papua New
Guinea

(C) Women of Value, Men of Renown :
new perspectives in Trobriand

exchange

(D) Argonauts of the western Pacific

8. Adeliberate and systematic effort to alter
an individual’s current behaviour and
give him/her a new set of values, beliefs

and standards is called

(A) Adult socialization

(B) Anticipatory socialization
(C) Re-socialization

(D) Preferential socialization

9. Which of the following isNOT an agency
of primary socialization ?
(A) Family
(B) School
(C) Club
(D) Peer group

K-0713
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10. Match List — | with List — Il and mark the
correct answer from the codes given

below :
List-1 List-1I
Concept Thinker

a) Social statics 1) E. Durkheim

and dynamics

b) Militant and 2) A.Comte
industrial society
c) Gemeinschaft  3) F. Tonnies

and Gesselschaft
d) Mechanical and 4) V. Pareto
organic solidarity
5) H. Spencer

Codes :
a b c d
A) 2 5 3 1
B) 5 1 4 2
(C) 3 2 1 4
(D) 2 3 2 5
11. The most unique feature of human society
is
(A) Mobility (B) Culture

(C) Authority (D) Stratification

12. Which one of the following is NOT a
theory of socialization ?

(A) Cognitive Development Theory
(B) Personal Identity Theory

(C) Social Identity Theory

(D) Engagement Theory

13. Which one of the following represents
a form of differentiation and not
stratification ?
(A) Class

(C) Sex

(B) Gender
(D) Caste
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Assertion (A) : Over the years empirical
research has earned credibility for the
discipline of sociology.

Reason (R) : Not all researchers use
scientific methods to carry out their
research.

Choose the correct answer from the

codes given below :

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

The quantitative aspect of change is
indicated by

(A) Growth (B) Evolution
(C) Development (D) Progress

Who viewed history as the ‘graveyard of
aristocracies’ ?

(A) V. Pareto

(B) A Gouldner

(C) A. Toynbee

(D) G.Mosca

Choose the correct sequence from the

following :

(A) K.Marx, M. Weber, E. Durkheim,
H. Spencer

(B) E.Durkheim, K. Marx, M. Weber,
H. Spencer

(C) K. Marx, E. Durkheim, M. Weber,
H. Spencer

(D) K.Marx, H. Spencer, E. Durkheim,
M. Weber

18.

19.

20.

21,

@
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In which of the following, are
relationships enduring ?
(A) Great Community
(B) Gesellschaft
(C) Gemeinschaft
(D) Extended Community

Who maintained that role is the dynamic
aspect of status ?

(A) Erving Goffman (B) Ralph Linton
(C) G.H.Mead (D) Pitrim Sorokin

The theory of ‘Social Capillarity’ explains
the phenomenon of

(A) Social stratification
(B) Social mobility

(C) Social change

(D) Social disorganization

Match List — | with List — Il and select the
correct answer from the codes given
below :

List-1 List-1I
Thinker Theory
a) M. Weber 1) Division of Labour
b) R. Dahrendorf 2) Theory of Leisure
Class
c) E. Durkheim 3) Economy and
Society
d) T. Veblen 4) Class andConflict
in Industrial
Society
5) Circulation of
Elites
Codes :
a b c d
(A) 1 4 5 2
B 3 2 5 4
(C) 1 2 3 4
(D) 3 4 1 2
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The process of Socialization is also
known as

(A) Acculturation
(B) Enculturation
(C) Internalization
(D) Individuation

Who among the following is NOT
associated with the functionalist
perspective on stratification ?

(A) Maclver and Page
(B) Duncan and Schnore
(C) Davis and Moore

(D) Miller and Form

Assertion (A) : Marxism became
increasingly influential during 1970s

Reason (R) : During 1970s functionalism
declined as it failed to provide answers
to many key questions on social change.

Choose the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R)

is not the correct explanation of (A).
(C) (A)istrue, (R) is false.
(D) (A) is false, (R) is true.

The book ‘The History of Human
Marriage’ was written by

(A) L. H. Morgan

(B) K. M. Kapadia
(C) Kingsley Davis
(D) Westermark E.

26.
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Identify the correct combination of
supporters of Cyclical Theory of social
change

(A) P. Sorokin, V. Pareto, A. Comte,
A. Toynbee

(B) V. Pareto, A. Toynbee, O. Splengler,
T. Parsons

(C) P. Sorokin, V. Pareto, H, Spencer,
O. Spengler

(D) P. Sorokin, V. Pareto, A. Toynbee,
O. Spengler

Which of the following books is NOT
written by Lewis Coser ?

(A) The Functions of Conflict
(B) Masters of Sociological Thought

(C) Sociological Theory : A Book of
Readings

(D) Conflict Sociology : Towards an
Explanatory Science

Who among the following devised the
term symbolic interactionism ?

(A) G.H.Mead
(B) H. Blumer
(C) C. H. Cooley
(D) H. Beeker

Which of the following is an example of
a quasi group ?
(A) Income group
(C) Trade union

(B) Family
(D) Play group

A custom in which a widow marries one
of her husband’s brothers is known as

(A) Levirate

(B) Conjugal marriage
(C) Sororate

(D) Polyandry

Paper Il



31.

32.

33.

34.

B BINTRYNTY T3 Fedos dedow (family
of orientation ) T RTR,0oNE0 03RT ?
ROCIRT YVZTR, TN QRTIR RoBeERLOT
TOTID S&RCWD :

A) B0T-3o00ned

B) m8/=8

C) tBREEHT

D) Q3% 302008Med

ToBeSNed :

(A) A) 232 B)

(B) A) #2)D)

(C) A) ®330)

(D) D) &23C)

TWRO® WRF B FPNT CIRT WoBRNYR
TOLWORRT ?

(A) . @dssj%

(B) 2335, Fwo®

(C) & Brog,. 0,

(D) 3. =»5s

QTR ST OV 0L TR0, LITTITT
3. [T

‘90T ris%da’ (m’dc“ 20eEr) @0t
TOTOFCIT DRI

(A) 2. BWR . QO

(B) 2&7°. Swo®

(C) =woedRn

(D) =v°. BmtomoT’,

35.

36.

37.

38.

Total Number of Pages : 16

85 BGNT[OY CIRT) AOeLET
VTR ‘T0YT GAFREIT T8’
ROT TOTOERTMIZE ?

(A) @ &g

(B) @ . oF. e:szip‘r

(C) o= T

(D) @ @, Erews®

83 BNTB0Q 03T RoFEMd THoTE, e3ears
IO WY BEMRONIN TpeIRWTITRT
080308 BTITTWOTT TOINTE T
RRE1ZES 0T RRLTHD 2

(A) . eR0DTTW

(B) «. oo

(C) . Roro®

(D) Bwa,. BuR,. TORR,

85 BINSYNYY CIRYTH . ARTRETC
TBRPIY, ©0tPOTT WONCD WTITL ?
(A) e

(B) &3t

(C) vvdren

(D) mow=y

#dmm%@d@) ‘g @?pﬁ)cﬁo ofm@déé
3 Q00RO ?

A) 03 @O BOWORRT LOTNW

B) ©0333 Eép’ 203N

C) m@ﬁﬁ TRODTROT RSFIN FOWORIT
203D

(D) =SSO0 Ty RREICTORT 203N

(
(
(



31.

32.

33.

34.

Who among the following are NOT
included in the family of orientation ?
Choose the correct code.

A) One’s parents
B) One’s spouse
C) One’s siblings
D) Affinal kins
Codes :

(A) A) and B)

(B) A)and D)

(C) A)and C)

(D) D) and C)

Power Blocks are associated with the
work of

(A) A.Gramsci
(B) M. Weber
(C) C.W. Mills
(D) K. Marx

The book ‘Philosophy of Money’ was
written by

(A) K. Marx

(B) G. Simmel
(C) T. Veblen

(D) J. Schumpeter

The concept of ‘Power Elite’ was
developed by

(A) C. W. Mills

(B) M. Weber

(C) Montesquieu
(D) R. Daherendorf
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35.

36.

37.

38.
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Who among the following is regarded as
the technological determinist of social
change ?

(A) E. Durkheim

(B) W. F.Ogburn

(C) S. Chaplin
(D) A. L. Kroeber

Who conceptualized that cultures pass
through successive stages corresponding

to spring, summer, autumn and winter ?
(A) A. Toynbee

(B) E. Tylor

(C) O. Spengler
(D) W. W. Rostow

Which of the following is NOT a tool of
vertical mobility according to P. Sorokin ?
(A) Church

(B) Education

(C) Occupation
(D) Wealth
The concept of role is sociology refers to
A) Positional aspect of an individual

(A)

(B) Static aspects of the position

(C) Behavioural component of status
(D)

D) Normative aspect of behaviour
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39. Content analysis refers to 41. Coefficient of variation is a measure of

(A) Quantification of research data (A) Regression

(B) Placing empirical data in a

theoretical framework (B) Correlation

)
(C) Study of recorded human (C) Dispersion

communication (D) Association
(D) Analysing field data

42. Which of the following types of research
40. Match List — | with List — Il and mark the

. design helps in developing hypothesis ?
correct answer from the codes given

below : (A) Diagnostic
List-1 List-1I (B) Exploratory
Book Author
(C) Experimental
a) World Revolution 1) L. Althuser o
and Family (D) Descriptive
Patterns 43. Who among the following is NOT
b) The Coming 2) W.J. Goode associated with rank correlation ?
Crisis of

(A) K. Pearson
Western Sociology

c) ldeology and 3) E.B. Tylor (B) C. Spearman

Ideological State (C) L. Goodman
Apparatuses (D) W. Kruskal
d) Religion in 4) A.W.Gouldner

— 44. The scale used for measuring association
Primitive Culture

5) G.H. Mead or closeness of contact between different

Codes : groups is known as

a b c d (A) Thurston scale
A) 4 2 1 3
) (B) Likert scale
B) 2 4 5 1
() 2 4 1 3 (C) Bogardus scale
(D) 5 4 1 2

(D) Guttman scale
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45,

Assertion (A) : In developed societies,

education is provided by the state as a

matter of right for all its citizens.

Reason (R) : In small-scale, non-

literate societies, such as hunting and

gathering bonds, formal education was

unknown

Choose the correct answer from the

codes given below :

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A)istrue, (R)is false

(D) (A)is false, (R) is true.

47.

48.

49.

50.

Total Number of Pages : 16

The success of Ambani family in India

is an example of
(A) Social mobility

(B) Individual mobility
(C) Social change
(D)

D) Individual emancipation

When one’s status is in compatible with

one’s other statuses, it is known as
(A) Status in consistency

(B) Status conflict

(C) Status set

(D) Status imbalance

The theory of embourgeoisement was

propagated by

(A) K. Marx

(B) C. W. Mills

C) J. H. Goldthorpe
)

D

(
(D) T.H. Marshall

Which of the following is NOT a
characteristic of culture ?

(A) Itis shared

(B) Itis static

(C) ltistransmitted
(D) Itisinherited

46. Match List — | with List — Il and choose
the correct answer from the codes given
below :

List-1 List—1I
Theories of Advocates
social change
a) Evolutionary 1) A. Toynbee
b) Cyclical 2) H. Spencer
c) Functionalist  3) K. Marx
d) Conflict 4) A. Tocqueville
5) T. Parsons
Codes :
a b c d
(A) 2 1 5 3
B) 2 5 3 1
(C) 3 2 5 4
(D) 4 3 2 1
K-0713
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